GOVT. OF NCT OF DELHI
Delhi Subordinate Services Selection Board
. FC-18, Institutional Area, Karkardooma, Delhi - 110092,
Wt e e v www.dsssb.delhigovt.nic.in

[Participant ID
Participant Name
Test Center Name

Test Date 06/09/2021
Test Time 4:30 PM - 6:30 PM
Subject TGT Social Science-(Male)

Q.1 U fafare st v &, ‘RACING’ &t ‘TMRXZI' for@r Sitar @1 39 ahie 9ToT & ‘QUAKES’ &1 &his
FaTE?
Ans X 1. HVPZEJ

o 2. HVPZFJ
X 3. HUPZFJ
X 4. HVQZFJ

Question ID : 753229410

Q.2 A cuboid having dimension 6 cm x 4 cm x 4 cm is painted such that the faces which are
square are painted with black colour. Out of remaining faces 2 adjacent faces are painted
with blue colour and 2 adjacent faces are painted with green colour. Now the cuboid is cut
into small cubes of size 2 cm. How many cubes will have 2 faces green?

Ans X 1.2
X 2.4
X 3.6
o 4.3

Question ID : 753229424

Q.3 ©g @i B1, B2, B3, B4, B5 a9T B6 okl B¢ faf¥ya &Rl C1, C2, C3, C4, C5 aUT C6 H & ek &R
qHE g (G4 181 ht 3ft v A g1) 1 B1 91 B6 @kl C3 a1 C4 U< -1g) 1 B2 a1 BS &l husl: C5
YT C1 u¥ie g1 B4 1 C3 a1 C6 Uig -1gl g1 B1 &l C2 U g1 81
feafcRadds aTauE ad &2
I. B1 &l C6 U< &1
Il. B4 & C4 U< &1

Ans X 1.%ad |
o 2.1 Tl gt
X 3. &aa |l
Koaagtiargi

Question ID : 753229412




Q.4

Ans

Frafafea s d § 1€ sigen 7 9 qua siw a9 Hifsgl
72, 36, 108, 144, 252, ?

X 1.426
o 2.396
2 3.384
X 4.274

Question ID : 753229416

Q.5

Ans

31ms &<k A, B, C, D, E, F, G T H Qeh gIThR AW & 56-M1E g Y ok g aedh 5 & (T
g it sft ha A @)1 E, A & Erfi 3R e w9 wR &1 21 G U1 F & fiw A <) aufs dsa €1 B,
D & gid Il 3R d&a1 g1 E aU1 G & oftw # &f =af<h dad &1 D a1 H & o9 A ues aafh dsar g1
fr=fefaa d @ s ar ey ag 87

I. C, A & gia ot ok dsar 1

II. C AT F & i & ues =afwh Saar g1

X1l gt
X 2. Faa I
3. Fad |
Kaagtiagi

Question ID : 753229413

Q.6

Ans

Toh SeRH Foar &, R 9 ua ug e 81 g e faenedt | 9@ 39 e us &6 gl gl
2,4,10,22, 44,72,114

X 1.10
X 222
W 3.44
X 4.72

Question ID : 753229417

Q.7

Ans

et Afeat = & o AT € TER &7
/2_5\(";‘3?
16

21 Y& o

s

LiG1

X 1.15
o 2.45
X 3.21
X 441

Question ID : 753229418




Q.8 U afh uffw Y iR 10 6. +ft. aetar &1 ag arff sk gzar § aur 15 fr. . aear &1 ag arfi
3R F=a1 & aut 10 k.. aerar @1 ag g: arfl ok gzar @ aur 31 k. f. a«an &1 ag 8 fx.+f.
gd i 1R Teta g1 ag AR foig & ora fhai R 82

Ans X 1.26 ot
X212 fR .
& 3.20 fr.d.
X 4. 24 fn .

Question ID : 753229420

Q.9 () F arft ok & weft &t st foreht a<h/Frem/wey @ Hafda &1 R W R d & (1) &
Y ofie T ach/Framy/sdy ur smeRe e siepfa vt gfAd

2 # 3
xy::-,rx"pk:?

# 2 - X -] @
Ans @
1. |k XP
3
@
X2 |k XP
£
@
X3 |kXP
3
3
X4 [k XP

Question ID : 753229422

Q.10 Based on the given venn diagram, which of the following statement is correct?
I. The number of cuboids which are cubes is 36.
Il. The number of cylinders which are not cuboids is 31.

Cylinder
N Bl S
29
42 25 F—Cube

15
QIJ\Cubnid

Ans X 1. Neither I nor Il

25 2. 0nly Il
o 3.0nly|
#< 4.Both land Il

Question ID : 753229419




Q.11 In the following question, four letter pairs are given. The letters on left side of (-) is related
to the letters on the right side of (=) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Ans X 1.XA-AD
& 2.NR-QV
X 3.QT-Tw
X AF-IL

Question ID : 753229407

Q.12 F=fafEa usr & Ry 7 el § 9 |&6fa g g ) glhg)
SiEfieR: nfa:: ?

Ans X 1. RSL: TETE
o 2. URiieR : fagd varg
X 3.3 Rfiex
< 4, gimHeR : RR &1 aroHE

Question ID : 753229409

Q.13 & 7E srrpfar d forea= Bryger 82

Ans 1.7
<28
3.6
< 4.9

Question ID : 753229423

Q.14 Qe 3geRd o man g, foed @ ger ue g g1 Ry 71y fRreeat # @ a8 wig e gy, it

STIshH Tl QRT
D8, 115, N22, S29, X36, ?

Ans X 1.C45
X 2.B45
& 3.C43
X 4.B43

Question ID : 753229405




Q.15 Qe aafh STedl oI o1+ 'R & fAarerar g aur 12 fr. . affw i siik aerar &1 ag arfi ok gaan
& aur 22 5. aetar &1 ag arff ofk ggar & aur 20 fF.H. aear 81 ag arfi stk gear g awn 5
fop. . oot 81 ag Sl ofik gear & aur 4 k.. aear &1 siaa: ag arff stk gsar g aur 12
5. . Tt 21 a8 SR fig & o fRha- R aur = T R A g2

Ans ¢ 1.13 R SROd
X 2,13 fn ot swRufgm
< 3.17 for . zferorgd
& 4.17 T . afeor-ufgm

Question ID : 753229421

Q.16 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

|I. Some D areF.
Il. Some D are N.
Conclusions:

|. Some F are N.
Il. Some N are D.

Ans X 1.Both conclusion | and Il follows
4# 2. Only conclusion Il follows
#< 3. Neither conclusion follows

#< 4. Only conclusion | follows

Question ID : 753229414

Q.17 F=fafEa usr & Ry g el § 9 |@&6fa sieri ot gl
CG:DF::MT:?

Ans & 1.NS
X< 2.NU
X 3.LU
X 4.8

Question ID : 753229408

Q.18 dfg & A, B, C, D T E Uth ¥R h SR 3@ 114 & (F™e) =il it s sr A gl)1 Baur C & off=r
H &) 99 @ 914 &1 A, B & 8leh SR @1 AT @1 C, E & 8iep i @ s g1
A | hI< T ST @1 ST 87

Ans X 1.A
X 2.8
& 3.D
X 4E

Question ID : 753229411




Q.19

Ans

fFrafafEa Tl &t regeier & o aret o & siger fod |

1. Lamellosities
2. Lamellibranch
3. Lamprophonies
4. Lamprophonias
5. Laminectomies

< 1.21534
o 2.21543
X 3.12534
X 4.12543

Question ID : 753229406

Q.20

Ans

In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

|. Some P are Q.

Il. SomeP are T.

lll. Al T are B.

Conclusions:

|. Some P are B.

1l. Some B are Q.

Ill. NoQisB.

+" 1. Only conclusion | follows
#< 2. Both conclusion | and Il follows
#5 3. Both conclusion | and Il follows

5 4. Only conclusion Il follows

Question ID : 753229415

Section : General Awareness

Q.1

Ans

Which of the following is correct regarding small industry in India?
I. Investment in Plant and Machinery or Equipment is not more than Rs.10 crore.
Il. Annual turnover is not more than Rs. 5 crore.

< 1. Neither I nor Il

& 2.0nly|
25 3.Both land Il

< 4.0nly Il

Question ID : 753229428

Q.2
Ans

Headquarters of International solar alliance is situated in
< 1. Germany

5 2. Australia
25 3. France
« 4. India

Question ID : 753229439




Q.3 fr=faf@a & @ fraa ag arr fRar o & “wdsrar 3 safdg aifder g ofk & 58 A gni™?
Ans X 1. T TSI I

X 2. faft= <ig arer
< 3. mgrea mieft
o 4. T TR foeren

Question ID : 753229435

Q.4 The colour of the Mahatma Gandhi (New) Series Rs. 500 note is .
Ans X 1.greenish yellow

2 2. bright yellow

" 3. stone grey
5 4. lavender

Question ID : 753229427

Q.5 WRT AU T R AT TS AT T HRATA et il THg hi 21k 3R Iuah forg ufskar
@ gafda &2

Ans X 1.37Jc 318
o 2. 3T 368
7 3. 97T 342
X 4. 3T 362

Question ID : 753229442

Q.6 Cockroach is an example of
Ans X 1. Annelida

< 2. Nematode
< 3. Mollusca
" 4. Arthropoda

Question ID : 753229431

Q.7 ____ udlue & ga& S=h A& g
Ans X 1. et

X 2.7

< 3. dhEm

o 4. T

Question ID : 753229432




Q.8 CaOCl, 3ifires st vraferd 1 =T g2
Ans X 1.9 drdET

X 2. g LA

o 3. oo ot

X 4. W STk ok

Question ID : 753229429

Q.9 ___ & Ui WRd & AR & #fAFR ol RfFaf@a o= 6y ok 21
Ans X 1.3l

o 2.99g

< 3. gate Ty

25 A A

Question ID : 753229441

Q.10 _____ ¥Rd # 3 aret uget A 2
Ans o 1. Oael

K239

X 3.5

X 4 fafexr

Question ID : 753229436

Q.11 The term ‘Double Fault’ is associated with which sports?
Ans X 1.Basketball

< 2. Golf
< 3. Football
«# 4. Tennis

Question ID : 753229444

Q.12 uyH gtsd B foha aef emafSa favg g 32
Ans X 1.1931

o 2.1930
2< 3.1936
X 4.1932

Question ID : 753229443




Q.13 In May 2021, which of the following organisation has launched “SHWAS”
schemes for MSMEs?

Ans X 1.NABARD
% 2.RBI

2 3.8l
o 4.SIDBI

and “AROG" loan

Question ID : 753229440

Q.14 F=faf@a # 9 s o saeen 7 gt aret uRad= 6 ufthar 78 82
Ans X 1.9g

K 2.9

X 3. ya

o 4. RS

Question ID : 753229433

Q.15 g™ AR WRA & fohe wroa/dhe anfia waer & fRAa 82
Ans X 1.35AIH

X 2. afaeETg

o 3. Rl

X 4.9

Question ID : 753229425

Q.16 fF=fafe@a d @ o a1 = 98t &2
1. iy 7t o1 IgH AFERIeR e & Fae fasaa | 81
I1. SIETY &Y it forsarar A Srgem oY ohgt e 21

Ans X 1.laurll gt
o 2. % |
X 3. Fad I

X4 agrarg

Question ID : 753229434

Q.17 \Rd & 48 & qz=g =rarefier & &7
Ans X 1. 3@ 84

o 2. A
X 3.79.u. di9s
X 4. s e

Question ID : 753229438




Q.18 “Powada” is a regional music of which state?
Ans  # 1. Maharashtra

#5 2. Himachal Pradesh
#5 3. Punjab
< 4. Rajasthan

Question ID : 753229426

Q.19 forg aef & weft v wR ufdsier s R war ar?
Ans o 1.1829

< 2.1832

X 3.1825

X 4.1824

Question ID : 753229437

Q.20 The image formed by a concave lens isalways ______ and
Ans X 1.Real, Inverted

25 2. Real, erect
¥ 3. Virtual, erect
< 4. Virtual, inverted

Question ID : 753229430

Section : Arithmetic Ability

Q.1 (0.5)2 +(0.05) 2 o1 T T @7
Ans o 1.0.2525

X 2.0.6250

X 3.0.525

X 4.0.2500

Question ID : 753229445

Q.2 2200 & 5/2 & 20 ufazra & 10 i 1 A FT 8?
Ans  # 1.110

X 2.11

2 3.100

X 4.10

Question ID : 753229451




Q.3 Y] YT HifraT AR Qe &R ot 20 R & o= dehet &1 At sty srueft = 1T e @ R
el g auT | srueh sreft arraT & o et 8, At Rk 12 R A qri gt sirer @1 shwar: ey
auT Fifar srchet i @ fohe=t R & qR1 o weRet 87

Ans X 1.30f, 60 e
o 2.60 =, 30 A
X 3.15fA, 60 &=
X 44017, 60

Question ID : 753229459

Q.4 Taffa:b=3:28 dt(3a+2b): (3a - 2b) k1 A= FTE?
Ans  # 1.13:5

X 2.23:10

X 3.15:7

X 4.22:9

Question ID : 753229454

Q.5 == & 7w aferent RAfva auf # fafw = Fufat 6 ekt ot gaidt &1

= b
b i ¢ Y2 Y3
A 100 180 200
B 120 160 300
C 175 150 125
D 80 50 140
E 150 30 250
F 200 380 320
=@ d @ &9 a1 Fy= aE 82
1. ufer aef shoeft C Y sitea fash 150 21
II. af Y2 & shoeft A Y forsht @ a1 af Y3 & shosit A i fafek siquma 9: 10 &1
Ans X 1.%ad |
X 2. &g |l
K3 agtiargi
o 4.1 3Tl gt

Question ID : 753229462

Q.6 afd gra @ 25 ufdera § & foran sraT 8, 9t @ua ot v ufazra & serar s aifeg arfes =g
THH @?

Ans X 1.16.66 ufasd
" 2.33.33 ufaza
< 3. 66.66 ufasra
< 4.37.5ufas@

Question ID : 753229452




Q.7 = e wan gus A= fafN= auf & &t Tyl ZR1 9 & Iarea ot g2afar gl

80
60
50 50
40
30 a8
20
15
“ rl |
Yl X2 Y3 Y4 Y5 Y6
OS]l mSs2

J1 = ufa af $2 gR1 =4 1 3| Iaarea
J2 = goft autf & S1 gRT 9™ & IS T IHT
(J2 = J1) &1 9= |1 &2

Ans X 1.185
o 2.175
X 3.165
X 4.195

Question ID : 753229464

08 AT I AT TR T

|. was Firer Fr frswm 70 @A §1 M T FI TET &G 61600
T2 &

Il. v 3T & T fr FE% 10413 WAL &1 I 3T Fr @@ 30 I g A
Y A F &6 600 THZ E

Ans X 1.%Faa |l

Koo agtargi

X 3. %ad |

o 4. | TuTll gt

Question ID : 753229461

Q.9 U T &l 6000 FUL & WHT SIET & AT 5500 FUA F <=1 STrer &1 g1y ufaera aam g?
Ans X 1.11.11 ufdea

«# 2.8.33 ufazrd
/< 3.7.28 ufasa
75 4.8.08 ufasa

Question ID : 753229453




Q.10 Weh ¥l &t 1fa 60 foh. ot /eieT @ a2t ITh! ivas 500 Hier &1 I} ZRT Uah @™ &l UR
e | foraT mar aw = @2

Ans X 1.36 9avs
X 2. 24 Qavs
«” 3.30 YT
< 4.18 Qavg

Question ID : 753229457

Q.11

I a=4+3V5.b=4-3V5 &, @ a® + b? F AA FT &2
Ans X 1.125

X 2.120

X 3.112

o 4.122

Question ID : 753229449

Q.12 =2 R war ¥an R eime awgsii & sifthd gra aur fAera 3o ot g2far &1

800
750

700

A B &, D E F G H
R IENIE I R e i ()
uf ag ge a1 T T &2

Ans X 1.243.45

X 2.242.65

o 3.231.25
7 4.23552

Question ID : 753229463

Q.13 (246 + 44)? - (246 - 144)? &1 | FaT &2
Ans o 1.392x188

< 2.400% 192

2 3.400 x 204

X 4.396x 192

Question ID : 753229446




Q.14 geh g & SA=cher a1 @Te 7T 88 V.72 &1 39 g1 Y Prear n @2
Ans X 1.33.%

X 2,49
< 3. 63
o 4295

Question ID : 753229460

Q.15 18/5 dAT 24/25 1 HEH HTU(h T &7
Ans X 1.6/5

X 2.72/5
& 3.6/25
X 4.2/5

Question ID : 753229447

Q.16 Weh AfA FTYRUT =TT WR 10 wfarerd ufdad & &z @ 5 auf d 3600 Fu g St &1 afA o &2
Ans X 1.2800 %0

X 2.1800 39&
2< 3.2000 393
o 4. 2400 30

Question ID : 753229456

Q.17 KaurL 7:45 yafg R geh R & 228 fh. . i &t uz &1 60 fAme ugq K, 36 foh. . /ger H nfa
@ L it 3R T IR et &1 9:45 galg uR L, 12 for.sft./der Y wfy @ K i 3R =rerm siivy
et g1 3 fore o s

Ans X 1.2:15 3WIg
o 2. 1:45 RTE
X 3.2:35 3mE
X 4.12:50 3G

Question ID : 753229458




Q.18
7 +.J63 +2./14
T AT FAT &7
2B L2 02 /63 ¢

Ans x 1 5+§ﬁ

o 422
T

><3.2+3J§
7

x4 S+32
7

Question ID : 753229448

Q.19 TfE p dUT q & T dUT q YT r & 3T AT 3iaR 15.5 &, At p qAT r & f= 1 SR AT &2
Ans X 1.36

X 2.29

" 3.31

X 4.28

Question ID : 753229450

Q.20 3ifet T faeRre i 31 &1 SrguTa 8 : 5 @1 afe fareTE Rt eiffe § 3000 FUd A uT g4 &,
sifret aut faer it get s foRa=it &2

Ans 7 1.13000 30d
7< 2.8000 ¥Td
2< 3.5000 ¥T@
< 4.14000 393

Question ID : 753229455

Section : General English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
The reality is that employees go (1)/ out of its way to avoid (2)/complaining to HR about
harassment (3)/. No error (4)

Ans X 1.4
X 2.3
3.2
X 4.1

Question ID : 753229466




Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.

The diver dives in the pool.
Ans o 1.divesinto

25 2. No improvement
X 3. divein

25 4. dive into

Question ID : 753229467

Q.3 Choose the word that is opposite in meaning to the given word.
Distort

Ans X 1.Slant
o 2. Accurate

< 3. Beguile
& 4. Wry

Question ID : 753229474

Q.4 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
Ever and anon

Ans X 1.To venture secretly
#< 2. Regularly and anonymously
" 3. Now and then

2 4. To talk to a stranger

Question ID : 753229477

Q.5 Choose the word that can substitute the given sentence:
A stroke of a bell, range slowly to indicate a death or a funeral

Ans o 1. Knell
25 2. call
25 3. Peal
< 4. Chime

Question ID : 753229479

Q.6 Rearrange the parts of the sentence in correct order.

Several examples of

P: George Marshall’s The Blue Dahlia share the common

Q: story line of a war veteran who returns home to find that the
R: way of life for which he has been fighting no longer exists

S: film noir, such as Dmytryk’s Cornered or
Ans o 1.SPQR
2 2.PQSR
< 3.QSPR
X 4.PRSQ

Question ID : 753229471




Q.7 A sentence has been given with a blank to be filled with an appropriate word. Choose the

correct alternative.
Curbing carbon dioxide emissions has critical implications

Ans o 1. for
X 2. of
X 3. at
5 4. off

Emperor Penguins.

Question ID : 753229470 ]

Q.8 Choose the word that means the same as the given word.
Hunt

Ans 4 1.Search
< 2. Glance
X 3. Pick
< 4. Haste

Question ID : 753229473 ]

Q.9 Rearrange the parts of the sentence in the correct order.
P: the Romans borrowed and adapted
Q: from the Greek colonies of Italy
R: turn had borrowed and adapted it
S: the alphabet from the Etruscans, who in

Ans X 1.QPSR
< 2.SQRP
2< 3.SPQR
o 4. PSRQ

Question ID : 753229472

= =
Q.10 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans & 1. Immediate
< 2. Emmediate
25 3. Immidiate
25 4. Imediate

Question ID : 753229476 ]

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the

correct alternative.
The manager praised his subordinates for their

Ans X 1.abate

energy at work.

" 2. robust
25 3. slow
25 4. sunken

Question ID : 753229469 ]




Q.12 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X 1. Comitted
" 2. Committed
< 3. Commited
25 4. Comited

Question ID : 753229475

Q.13 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
A commiittee are to(1)/ be formed(2)/ of twenty-five barons (3)/.No error (4)

Ans o 1.1
X 2.3
X 3.2
X 4.4

Question ID : 753229465

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No improvement’ as your answer.
He met her their. There was a bicycle stand near by.

Ans X 1.their. Their
< 2. No improvement
25 3. there. Their
" 4.there. There

Question ID : 753229468

Q.15 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.
A big wig
Ans X 1. Abald person
< 2. A pompous person
25 3. To fake something

«" 4. An important person

Question ID : 753229478




Comprehension:

Read the following information carefully and answer the given questions.

Parkinsonism, a group of chronic neurological disorders characterized by progressive loss of
motor function resulting from the degeneration of neurons in the area of the brain that
controls voluntary movement.

Parkinsonism was first described in 1817 by the British physician James Parkinson in his
“Essay on the Shaking Palsy.” Various types of the disorder are recognized, but the disease
described by Parkinson, called Parkinson disease, is the most common form. Parkinson
disease is also called primary parkinsonism, paralysis agitans, or idiopathic parkinsonism,
meaning the disease has no identifiable cause. This distinguishes it from secondary
parkinsonism, a group of disorders very similar in nature to Parkinson disease but that arise
from known or identifiable causes. The onset of Parkinson disease typically occurs between
the ages of 60 and 70, although it can occur before the age of 40. It is rarely inherited.
Parkinson disease often begins with a slight tremor of the thumb and forefinger, sometimes
called “pill-rolling,” and slowly progresses over 10 to 20 years, resulting in paralysis, dementia,
and death.

All types of parkinsonism are characterized by four main signs, including tremors of resting
muscles, particularly of the hands; muscular rigidity of the arms, legs, and neck; difficulty in
initiating movement (bradykinesia); and postural instability. A variety of other features may
accompany these characteristics, including a lack of facial expression (known as “masked
face”), difficulty in swallowing or speaking, loss of balance, a shuffling gait, depression, and
dementia.

Parkinsonism results from the deterioration of neurons in the region of the brain called the
substantia nigra. These neurons normally produce the neurotransmitter dopamine, which
sends signals to the basal ganglia, a mass of nerve fibres that helps to initiate and control
patterns of movement. Dopamine functions in the brain as an inhibitor of nerve impulses and
is involved in suppressing the unintended movement. When dopamine-producing
(dopaminergic) neurons are damaged or destroyed, dopamine levels drop and the normal
signalling system is disrupted. In both primary and secondary parkinsonism, the physiological
effects of this deterioration do not manifest until roughly 60 to 80 percent of these neurons
are destroyed. So, it requires a careful supervision.

SubQuestion No : 16

Q.16 What is the tone of the given passage?

Ans

" 1. Cautionary
< 2. Sarcastic
< 3. Analytical
X 4. Pessimistic

Question ID

: 753229484




Comprehension:

Read the following information carefully and answer the given questions.

Parkinsonism, a group of chronic neurological disorders characterized by progressive loss of
motor function resulting from the degeneration of neurons in the area of the brain that
controls voluntary movement.

Parkinsonism was first described in 1817 by the British physician James Parkinson in his
“Essay on the Shaking Palsy.” Various types of the disorder are recognized, but the disease
described by Parkinson, called Parkinson disease, is the most common form. Parkinson
disease is also called primary parkinsonism, paralysis agitans, or idiopathic parkinsonism,
meaning the disease has no identifiable cause. This distinguishes it from secondary
parkinsonism, a group of disorders very similar in nature to Parkinson disease but that arise
from known or identifiable causes. The onset of Parkinson disease typically occurs between
the ages of 60 and 70, although it can occur before the age of 40. It is rarely inherited.
Parkinson disease often begins with a slight tremor of the thumb and forefinger, sometimes
called “pill-rolling,” and slowly progresses over 10 to 20 years, resulting in paralysis, dementia,
and death.

All types of parkinsonism are characterized by four main signs, including tremors of resting
muscles, particularly of the hands; muscular rigidity of the arms, legs, and neck; difficulty in
initiating movement (bradykinesia); and postural instability. A variety of other features may
accompany these characteristics, including a lack of facial expression (known as “masked
face”), difficulty in swallowing or speaking, loss of balance, a shuffling gait, depression, and
dementia.

Parkinsonism results from the deterioration of neurons in the region of the brain called the
substantia nigra. These neurons normally produce the neurotransmitter dopamine, which
sends signals to the basal ganglia, a mass of nerve fibres that helps to initiate and control
patterns of movement. Dopamine functions in the brain as an inhibitor of nerve impulses and
is involved in suppressing the unintended movement. When dopamine-producing
(dopaminergic) neurons are damaged or destroyed, dopamine levels drop and the normal
signalling system is disrupted. In both primary and secondary parkinsonism, the physiological
effects of this deterioration do not manifest until roughly 60 to 80 percent of these neurons
are destroyed. So, it requires a careful supervision.

SubQuestion No : 17

Q.17 Which of the following questions is NOT answered by the given passage?

Ans

25 1. How Parkinson disease got its name?
2% 2. What are the types of Parkinson disease?
< 3. What is the role of dopamine in the brain?

" 4. Which treatment is need to be followed for Parkinson disease?

Question ID

: 753229485




Q.18

Ans

Comprehension:

Read the following information carefully and answer the given questions.

Parkinsonism, a group of chronic neurological disorders characterized by progressive loss of
motor function resulting from the degeneration of neurons in the area of the brain that
controls voluntary movement.

Parkinsonism was first described in 1817 by the British physician James Parkinson in his
“Essay on the Shaking Palsy.” Various types of the disorder are recognized, but the disease
described by Parkinson, called Parkinson disease, is the most common form. Parkinson
disease is also called primary parkinsonism, paralysis agitans, or idiopathic parkinsonism,
meaning the disease has no identifiable cause. This distinguishes it from secondary
parkinsonism, a group of disorders very similar in nature to Parkinson disease but that arise
from known or identifiable causes. The onset of Parkinson disease typically occurs between
the ages of 60 and 70, although it can occur before the age of 40. It is rarely inherited.
Parkinson disease often begins with a slight tremor of the thumb and forefinger, sometimes
called “pill-rolling,” and slowly progresses over 10 to 20 years, resulting in paralysis, dementia,
and death.

All types of parkinsonism are characterized by four main signs, including tremors of resting
muscles, particularly of the hands; muscular rigidity of the arms, legs, and neck; difficulty in
initiating movement (bradykinesia); and postural instability. A variety of other features may
accompany these characteristics, including a lack of facial expression (known as “masked
face”), difficulty in swallowing or speaking, loss of balance, a shuffling gait, depression, and
dementia.

Parkinsonism results from the deterioration of neurons in the region of the brain called the
substantia nigra. These neurons normally produce the neurotransmitter dopamine, which
sends signals to the basal ganglia, a mass of nerve fibres that helps to initiate and control
patterns of movement. Dopamine functions in the brain as an inhibitor of nerve impulses and
is involved in suppressing the unintended movement. When dopamine-producing
(dopaminergic) neurons are damaged or destroyed, dopamine levels drop and the normal
signalling system is disrupted. In both primary and secondary parkinsonism, the physiological
effects of this deterioration do not manifest until roughly 60 to 80 percent of these neurons
are destroyed. So, it requires a careful supervision.

SubQuestion No : 18

As per the given passage, when does the onset of Parkinson disease occur?
|. Between the ages of 60-70
1l. Before the age of 40

%" 1.Bothlandll
25 2. Neither | nor Il
25 3.0nlyl

X 4.0nlyll

Question ID : 753229481




Comprehension:

Read the following information carefully and answer the given questions.

Parkinsonism, a group of chronic neurological disorders characterized by progressive loss of
motor function resulting from the degeneration of neurons in the area of the brain that
controls voluntary movement.

Parkinsonism was first described in 1817 by the British physician James Parkinson in his
“Essay on the Shaking Palsy.” Various types of the disorder are recognized, but the disease
described by Parkinson, called Parkinson disease, is the most common form. Parkinson
disease is also called primary parkinsonism, paralysis agitans, or idiopathic parkinsonism,
meaning the disease has no identifiable cause. This distinguishes it from secondary
parkinsonism, a group of disorders very similar in nature to Parkinson disease but that arise
from known or identifiable causes. The onset of Parkinson disease typically occurs between
the ages of 60 and 70, although it can occur before the age of 40. It is rarely inherited.
Parkinson disease often begins with a slight tremor of the thumb and forefinger, sometimes
called “pill-rolling,” and slowly progresses over 10 to 20 years, resulting in paralysis, dementia,
and death.

All types of parkinsonism are characterized by four main signs, including tremors of resting
muscles, particularly of the hands; muscular rigidity of the arms, legs, and neck; difficulty in
initiating movement (bradykinesia); and postural instability. A variety of other features may
accompany these characteristics, including a lack of facial expression (known as “masked
face”), difficulty in swallowing or speaking, loss of balance, a shuffling gait, depression, and
dementia.

Parkinsonism results from the deterioration of neurons in the region of the brain called the
substantia nigra. These neurons normally produce the neurotransmitter dopamine, which
sends signals to the basal ganglia, a mass of nerve fibres that helps to initiate and control
patterns of movement. Dopamine functions in the brain as an inhibitor of nerve impulses and
is involved in suppressing the unintended movement. When dopamine-producing
(dopaminergic) neurons are damaged or destroyed, dopamine levels drop and the normal
signalling system is disrupted. In both primary and secondary parkinsonism, the physiological
effects of this deterioration do not manifest until roughly 60 to 80 percent of these neurons
are destroyed. So, it requires a careful supervision.

SubQuestion No : 19

Q.19 Which of the following statements is NOT true as per the given passage?

Ans

< 1. Parkinson disease can be divided into primary as well as secondary Parkinsonism.
< 2. Difficulty in swallowing and speaking is one of the symptoms of this disease.
" 3. Dopamine functions in the brain as an exhibitor of nerve impulses.

2 4. Parkinsonism results from the degeneration of neurons in the area of the brain.

Question ID

: 753229482




Comprehension:

Read the following information carefully and answer the given questions.

Parkinsonism, a group of chronic neurological disorders characterized by progressive loss of
motor function resulting from the degeneration of neurons in the area of the brain that
controls voluntary movement.

Parkinsonism was first described in 1817 by the British physician James Parkinson in his
“Essay on the Shaking Palsy.” Various types of the disorder are recognized, but the disease
described by Parkinson, called Parkinson disease, is the most common form. Parkinson
disease is also called primary parkinsonism, paralysis agitans, or idiopathic parkinsonism,
meaning the disease has no identifiable cause. This distinguishes it from secondary
parkinsonism, a group of disorders very similar in nature to Parkinson disease but that arise
from known or identifiable causes. The onset of Parkinson disease typically occurs between
the ages of 60 and 70, although it can occur before the age of 40. It is rarely inherited.
Parkinson disease often begins with a slight tremor of the thumb and forefinger, sometimes
called “pill-rolling,” and slowly progresses over 10 to 20 years, resulting in paralysis, dementia,
and death.

All types of parkinsonism are characterized by four main signs, including tremors of resting
muscles, particularly of the hands; muscular rigidity of the arms, legs, and neck; difficulty in
initiating movement (bradykinesia); and postural instability. A variety of other features may
accompany these characteristics, including a lack of facial expression (known as “masked
face”), difficulty in swallowing or speaking, loss of balance, a shuffling gait, depression, and
dementia.

Parkinsonism results from the deterioration of neurons in the region of the brain called the
substantia nigra. These neurons normally produce the neurotransmitter dopamine, which
sends signals to the basal ganglia, a mass of nerve fibres that helps to initiate and control
patterns of movement. Dopamine functions in the brain as an inhibitor of nerve impulses and
is involved in suppressing the unintended movement. When dopamine-producing
(dopaminergic) neurons are damaged or destroyed, dopamine levels drop and the normal
signalling system is disrupted. In both primary and secondary parkinsonism, the physiological
effects of this deterioration do not manifest until roughly 60 to 80 percent of these neurons
are destroyed. So, it requires a careful supervision.

SubQuestion No : 20
Q.20 Identify the synonym of the word ‘degenerate’ as per the context?
Ans X 1.Improve

25 2. Moral
< 3. Retrospect
" 4. Debase

Question ID : 753229483

Q.1 FafafEa arria & g 3Re s @1 9= fifsig)
TERT Ig S u2ien & g gl

Ans X 1.9@dm
X 2. g
< 3. gwgar
o 4 UiE

Question ID : 753229490




Q.2 QY 2reg &1 age= wra HifAg)
sfteft

Ans X 1. sfedm
< 2. shmfeh
o 3. offafaat
X< 4. s

Question ID : 753229496

Q.3 Ry 7y 2rez g 1 WE 2AE I A1 FfAQI
3fa : arfara

Ans o 1. STl : W17 g3
2< 2. 319a IR
< 3. e : g
< A, T g3 IR

Question ID : 753229491

Q.4 T 7q arera A IUYGRH A 1 TG ek Reh U 6l gfed FifSg)
A miid g FaRuTag ______ g

Ans X 1.9d
o 2. 3R
X 3. Sfifa
X 4. fastta

Question ID : 753229489

Q.5 Ry g & fna form Rig a1 Sugi faear s S9! uga= fifsigl
far @t @

Ans X 1.7
5K 2.0
<30
& 4

Question ID : 753229497

Q.6 FafafEa areal & @ st arem e fifsgl
Ans X 1. %R e ugen @ uge €E) a1 gt o
7< 2. & e ugar uig =é a1 gt ot
o 3. 9 & & Rrerrerg ugan, € a1 gehy ot
X 4. e ugar ofik ¢ a1 geht ot

Question ID : 753229494




Q.7 Ry g # forg form g a1 SuaiT farar s s9h ug== Rifsigl
I A1, 3R fR gwA e
Ans X 1.;1
x2-;
o 3.1
X 4.2

Question ID : 753229498

Q.8 Fafeiaa areal 4 @ W=« area 74 RSl
Ans X 1.5 a5 et ugar 3R e & @
o 2. € feoet ST 1 o o7 &1
25 3. g5 fecett T SR W @A &
X 4. 18 @t g feelt ugn, ag s o el

Question ID : 753229495

Q.9 f=fafae us d, Ry 7y ar et & |, 39 faesea o1 wa+ o st Ry g ggrer & orf @t
s U Q =wh AT 2l
TS T Q=T
Ans X 1. 99-GB GHSAT
X 2. SRR FHSAT
o 3. &

X 4. Fer eften

Question ID : 753229500

Q.10 FR=fafaa araat & @ grdafaes Rty 3a AifSal
g A ulRig RFaR & ZRr a=mar man &)

Ans X 1.ERI
X2&
X 3.ufag
o 47

Question ID : 753229487

Q.11 g 71 218 g o1 T 21sg g A1 HifSgl
3T : sifara

Ans o 1. fafeq: sreh
X 2. 39ma : fafea
K 3.
X 409 fafka

Question ID : 753229492




Q.12 F=fafEa us 8, Ry ¢ 9R Rereal 7 9, 39 Ao o1 9g+9 & o1t Ry 7g gerer & sref ot
s 9 Q =wh AT 2l
3=t i I 3ra= fiE &

Ans X 1. AR & HE-UR & AT
2 2. 37Ot g & 7 g
«F 3. fohdlt ara & = A @
X 4. s U g

Question ID : 753229499

Q.13 T 71T arera &1 ua A1 hifeigl
gt mMe &1

Ans X 1. [&game uet
2. Faua
2 3. gof et
< 4. 3qu et

Question ID : 753229493

Q.14 R~k = # Iuy~h shAaTae Ao siea: AT
ST & el SITaere w1 e e

Ans o 1. @0l
X 2.98
X 3.t
X 4 AR "R

Question ID : 753229486

Q.15 Y 71 2r<E] 1 & T 9H-dga A1d hifSgl
Ans X 1. ERIFW

o 2. IR
75 3. JraR-@te
25 4. R-EART

Question ID : 753229488




Comprehension:

Qe TR AT 7T 81 IR o SR WR Uid U f&Q 7Y 1 TSl ot eaHydes Ue adl Uddh U | IR
ferepeat 7 & @t frepen T

IR B $H-chedT0T 1l § 3Fch TRBRT 3R TR-TRPRY TATSA T THT &1 R & AfBepl & hedor-rd
Q G AT ot faeme gt fay geg o e goim o118/ SUR # Athetd UTWd &hest el Hgeayul d1ee
&1 ST Pk B STUH Siae 8 $afl-8-3elt SHTERIRT ot OYf e Hehd & | TR S &1 & 31 TgT i heT &l
g9 gaenl g¥ ¢ | foreht SRl & gherdr 9off el & 5o g7 uRem oed 81 21 & Sfie ol 7fd ue ohear
21 EY Y srSiiet SheT SITdT & | ARG H e ehewt arel SIfBeh! & dheaToT, ITeht YReM 3R ey deet
fafera uggeti &t afia e & e TREAR S0 FWR wdll &1 WeidT ITie & a1e fenfies e st
T UeM & & U TR TR 7 R Sifafam, 1948 ufqurfed famar) sfenfires searor & Twarer
H i < IRUT U4 Siifec Tweeelt fafora foaReRreii &l sjacia! Iucres &1 e Tl STH-ShedroT i i
PRE & S=aiid fohT ST aTet it deh T gara g1 oo fean §, g9 st & srwarfa siffient o
Tifgen, AR, Afdes ok enfdfes Iafa & forg fhe e fnedt oft il ot af@fora oA &t ouf@edar 29 81
STH-SheTUT Y dTeR] I Sfiefies Toumelt g2 St thigeal & JASTIR i GeMaf T I7d & & oy
a1feren! gRT fohdt ST aret Ufeeh Tramal § & | HH-chewiToT h1d bl URUTH I8 8idT & fob 508 siffial &
ARSI chY ATaT o faehTd 81T &1 399 & o1l | sy =R a1

SubQuestion No : 16
Q.16 HHR # HheTdT UTC he- T HgTaY0l AT T 67

Ans X 1. e
X 2,33t
5 3. ARy
o 4.5

Question ID : 753229503

Comprehension:

Tep TeIier foam war &1 wwerier & SR R uta wet fu MY €1 eI i earydes ug aUT Uk U H AR
freneat & T T ferea A1

IR B $IH-chedT0T 1l H 3ch TRBRI 3R TR-TRBRT TRATSH T TNT &1 TR & AfBehl & hedmor-rd
T g HTaAT T e et fasy g o a1a g1 AT IS SR H HheTdl UTW el ol Ao qu! are
21 9 ek B S0 Sitae B $eft--3ht SHTeRien ol Ut e Tohd &1 TR hH &1 & STd: T8I hH heAT &Y
&9 aaht 4 g | fhet rd & goherar aoft et & STa g8 alkem sed &1 9 €1 Sfiae ot 71fd Ue= dear
&1 It ot STSTid! Thgl STTdT | ShRWETH] H 1 e dTet SITHeh! S ThedToT, Schl YREMT SR Wy Heieht
fafera uggsii @t afia e & A TREAR S0 SR el &1 Wi UTie o a1e 3fenfies e at
T T A & fT YR GRepR = e ifAfaw, 1948 ufdqurfed feram efenfies searor & grary
H ol il Ron Ud ity avaeft fafes fAaRemRist 6 sl Sucretl 81 e T S1H-chedTul S aht
HREM! & 3id fohy ST aTet ehrdl deh TR adrd &1 1o+ fen &, g7 -t & sr=afa iffianl &
Sifeep, SmRen, Afdes 3iik anfdfer Iafa o fay fony U fohet oft &R ot TfdfeId A ot TTafAedT 4 €|
STH-thedTuT § d1 g Sfienfiics Tunel qur o=t thideal & JASTIR chl g3 T I7d B & g
A1ferehl T fohdt ST aTet Ofesses Ul & &1 S1H-chediToT it ol URUTTH I8 gtaT & foh 39 siffent &
IRETRAE &hY 9TaT T [ giaT &1 399 3 ot § faviy R §1

SubQuestion No : 17
Q.17 SR~ Teriar o1 Sugsh 2fivfe o ghm?
Ans X 1.9 & g gren
25 2. 919 € g U BT HedToT
25 3. AR &Y gamaif &1 A
oF 4. 9T HE &7

Question ID : 753229506




Comprehension:

Qe TR AT 7T 81 IR o STYR WR Ufd U f&Q 7 1 TSl ot eaydes Ue a1 Uddh U | IR
ferepeat 7 & et frepen

YR B $H-chedT0T 1l § 3Fch TRBRT 3R TR-TRPRY TATSA BT THT &1 TR & AfBepl & ool
Q FraIfAd AT ot faeme gt fay geg o e goim o113 S8R # Jtherd UTWd ohest el Hgeayul d1ee
&1 ST hch B STUH Siae & $afl-8-3elt SHTeRIRT ot O X Hehd & | TR A &1 & 31d: T8T i T &l
g9 gaenl g¥ ¢ | foreht SRl & gherdr 9off el & 5o g7 uRem oed 81 21 & Sfie ol 7ifd ue ohear
21 EY Y srSiiet SheT SITdT & | ARG H e ehewt arel SIfHeh! & dheaToT, ITeht YReM 3R Ty deedt
fafera uggeii &t afia e & e TREAR S0 FWR @l &1 Wi ITie & a1e fenfies e st
T UeM & & U TR TR 7 R Sifafam, 1948 ufqurfed famar) 3fenfires searor & Twarer
H R <l IRUT U4 Siifc Twaeelt fafora foaRemRrsii &l sjacia! Iucrees &1 e Tl SIH-ShedToT i i
PREM & 3= fohT ST aTet it dep T Fara g1 oo fean §, g9 st & srwarta siffient &
Tifgen, AR, Afdes ok enfdfes Safa & forg fhe e fnedt oft wrd ot af@fora oA &t ouf@edar 29 &1
STH-SheTUT Y dTeR] e Sfienfies Toumelt qouT -t thideal & JASTIR <l GeMaT T I9d e & forg
a1ferehl gRT fohdt ST aret Ueeh Tramal § &1 HH-chediToT h1dl bl RO I 8idT & fob 508 siffal &
IR chl ATaAT o faehTd 81T &1 399 & o1l | gy =R a1

SubQuestion No : 18
Q.18 Ted=ar Ui & a1g fohaes faerra & forg siffaas ariRe forar an?

Ans o 1. SfiEilfien
< 2. anffen
X 3. I9R
X 4.9z

Question ID : 753229505

Comprehension:

Tep TeIier foam e &1 wwerier & SR R utg ue fu MY €1 eI i earydes ug aUT Uk U H§ AR
freneat & T Tt ferea A1

IR B SH-chedT0T STl H 3ch TRBRI 3R TR-TRBRY TRATSHT o1 TNT &1 R & 1fBepl & hedmor-rd
T g HTaAT ol e e fasy g o a1a g1 AT IS SR H Hheld UTW el T Ao qu! are
21 97 ek B ST Sitae B $et-8-3ht SATehiRT ol Ut e Tohd &1 TR hH &1 & STd: T8I B heAT &Y
&9 aaht 4 g | fhet rd & geherar aoft et & STa g1 alkem eed &1 91 €1 Sfiae ot 71 Ue= aear
&1 It ot SITSTid! Thgl ST 61 ShRWETH] H 1 e aTel SIfHehT S ThediToT, SIchl REMT SR Wy Heieht
fafera ugggaii @t afia @ & e TREAR S0 SR el &1 WeidT Tie o a1e fenfies e st
T T A & fT YR GRepR = e ifAfaw, 1948 ufdurfed feram| efenfies eearor & grary
H ol i TRon Ud ity avaeft fafee foaRemist 6 sjaiel Sucrets 81 e T S1H-chedTol S aht
HREM! & 3id fhy ST aTet shrdl deh TBT adrd &1 3o+ fen &, g7 -t & st iffianl &
Sifen, amRen, Afdes aiik anfdfer Iafa o fay fory U fohet oft R ot TfdfeId A Y TTafAedT 4 €|
STH-hedTuT § d1 e Siienfiics Tunel qur o=t thideal & JASTIR chl G T I7d B & g
A1ferehl IRT fohdt ST ATt Ofesseh UaTl & &1 S1H-chediToT it ol URUTTH I8 gtaT & foh 39 siffent &
IRETRAE &hY TaT T [ giaT &1 399 3 ot o fasiy 3R A &1

SubQuestion No : 19
Q.19 9Rd # sl & Searor-Frd @ T Hra=T 1 forepTs o gom oum?
Ans X 1. g iy gg 9 e
K2 umRygg has
o 3. Ry gg dar
< 4. v Iy gg S uga

Question ID : 753229502




Q.20

Ans

Comprehension:

Qe TR AT 7T 81 IR o SMYR WR Uid U f&Q 7¢ 1 TTerier ot eagden Ué a1 U Usl H IR
ferepeat 7 & @t frepen T

IR B $H-chedT0T 1l § 3Fch TRBRT 3R TR-TRPRY TATSA T THT &1 R & AfBepl & hedor-rd
Q G AT ot faeme gt fay geg o e goim o118/ SUR # Athetd UTWd &hest el Hgeayul d1ee
&1 ST hch B STUH Sfae 8§ $afl-8-3elt SHTERIRT ot O X Hehd & | TR S &1 & 37d: T8T i heT &l
g9 gaenl g¥ ¢ | foreht SRl & gherdr 9off el & 5o g7 uRem oed 81 21 & Sfie ol 7fd ue ohear
21 FE Al st gt STar 1 AR H S AR arer BT I e, IR YReM 3R W deieft
fafor= ugqelt @l Fafia e &1 TR TREAR = SR <t 81 T Wit & are sieifien faemre ot
T UeM & & U TR TR 7 T Sifafam, 1948 ufqurfed famar) sfenfires srearor & Twarer
H o Y IR ga sfife et fafva foarawTst &t Jeee! Iuey §1 §© | SH-hed T S ht
PRE & S=aiid fohT ST aTet it deh T gara g1 oo fean §, g9 st & srwarfa siffient o
Tifgen, AR, Afdes ok anfdfes Safa & forg fhw U fanedt <oft il ot af@fora & &t ouaf@edar 23 &1
STH-SheTUT Y dTeR] I Sfiefies Toumelt g2 St thigeal & JASTIR i GeMaf T I7d & & oy
a1ferehl gRT fohdt ST aret Ueeh Tramal § &1 HH-chediToT h1dl bl RO I 8idT & fob 508 siffal &
ARSI chY ATaT o faehTd 81T &1 399 & o1l | sy =R a1

SubQuestion No : 20
& Y a1 T SAEar 82
oF 1. sESidr
5 2. O ma
< 3. faemm=
X 4. Afepar

Question ID : 753229504

Section : Discipline1

Q.1

Ans

1804 Auiferg= sis & F=faf@a & @ = a1 vt A ar?
. AnTReR Efgar
II. 3R ufehar dfgar

o agtard
X 2. 1 qurll =
o 3. 59 |
X 4. Faall

Question ID : 753229512

Q.2
Ans

fore aef 7 473 IS & Rurfgat F wra @ swf s & forg w7+ o Ram am?
o 1.1824

< 2.1834
X 3.1814
X 4.1844

Question ID : 753229516




Q.3 w FeIg af v srigtes ______ 3 R« am
l. QaRda
II. g SAYeheis

Ans X 1.1@arll gt
X2 aglagl
X 3. &l
o 4 Fad |

Question ID : 753229525

Q.4 F=fafad d @ #1857 & felg o fewar 8 ur?
Ans X 1. 971 918

X 2. 3 Aefard

o 3. TERH! TRl &t

X 4. 9T gORd Hed

Question ID : 753229515

Q.5 1917 %, @fA fFieis & &9 aga ok IgIA ero= I fora o S “wifraa | @t
qrét 21fRF" o 1 AwT fem

Ans X 1. S AiffE
X 2.5 ofiff=
X 3. 7E ARk
o 4. e R

Question ID : 753229526

Q.6 shifaerIiRal ZRT =t Yehd sl UR UgT I8T gH«T fohd af & famar mar ar?
Ans X 1.1907

< 2.1903
& 3.1905
% 4.1909

Question ID : 753229522

Q.7 & XVI & o wiv & forea o w=it & wu & srd foram?
Ans X 1. fouffore

X 2. e gt
X 3. g
o 4 S e

Question ID : 753229510




Q.8

Ans

e whifa & ugat wiw & Jeof A Aafaf@a d @ s TRy ad &2
. a8 snfdfer T & 3if|d= aml

1. 3Rt TR gRe T ufarte um

lll. a8 i srfd=iw am

& 1. 13l
X 2. Fhad |
X 3. g
X4 1aurl

Question ID : 753229514

Q.9
Ans

fore a=mdft Aar ot A= & A1 @ off ST ST @2
21, foft= g ure
25 2. AT Aretud I
X 3. wra ¥
o 4. TS TR foeren

Question ID : 753229517

Q.10 T3T HATIE Fal g3 AT?

Ans

X 1.1921
& 2.1918
2< 3.1920
X 4.1919

Question ID : 753229521

Q.11
Ans

1919 h iad URa & _____ g i givom iy 7 o
P RCCE

o 2. TIT-ImE

< 3. Afe-fic

X 4. s

Question ID : 753229518

Q.12 et & 1905 & faurer fARieh srigiet o fawar fA=faf@a d @ & ar Aar s ues w98

Ans

U1?

& 1. gla A1y sl
o 2. TRt S

X 3. gdieEE
X 4. w1 FAR ot

Question ID : 753229520




Q.13 w1 g XVI 3 foret aef & ag aiwon 6 off fh a5 TReH STRa! 1 AT Hat?
Ans o 1.1788

X 2.1783
X 3.1787
X 4.1782

Question ID : 753229513

Q.14 &= shifa & dgof d, defiard) frami =t & ®q # oft S ST @1
Ans X 1. @™

o 2. Do

25 3. Ar5e™

X 4. dg

Question ID : 753229523

Q.15 _____ 31T A Sifeaiare anT grenis 6 sii" & ot
Ans X 1.%GS

< 2.9

& 3.8

X 4. wtet

Question ID : 753229519

Q.16 et ATHY i 319 hfted w1 ugen @ T & ______ & gentfAa fmar mar i
Ans  # 1.1870

X 2.1873
X 3.1874
X 4.1872

Question ID : 753229524

Q.17 18t 2raredt & ofd &, wiw A _____ & Rl sufdzrarial @t fa=fa sgrar vem &t
Ans o 1. SR gg Wzl

X2 fAagg

X 3w S gg

X 4. TiG-3eqifed g

Question ID : 753229511

Q.18 1830 & memd ______ w2fiey Ieumet & dhe & &0 § IR
Ans X 1. f&far

X 2. Qo

X 3.5

o 4.3l

Question ID : 753229507




Q.19 F=fafEa & 9 #1991 sy uget uum daadfa atsrn & dgef 7 wdt @2
I. T &S - SR Aisd WR menlka ATl
1. e i wR FHiga g1
I 39T e 1950 F g3 oft |

Ans X 1.0l
o 2. 13l
< 3 1l
X 4. %aa |

Question ID : 753229509

Q.20 daadia gte T 1961 | utfe 6 s off |
Ans X 1.U03H

K 2.q@

o 3. I

X 4. 3R

Question ID : 753229508

Section : Discipline2

Q.1 Which of the following factors affect the distribution of insolation?
I. Angle of the Sun's rays
Il. Length of day
11l. Sunspots

Ans X 1.lland Il
5 2.0nlyl
25 3. land Il
o 4.1, 1land I

Question ID : 753229546

Q.2 Who was the father of the liberal view of society?
Ans  # 1. John Locke

< 2. Adam Smith
25 3. David Ricardo
< 4. Alfred Marshall

Question ID : 753229528

Q.3 ffafae d @ o= o sy g 7Rew & o 6 gidt 82
Ans X 1.8EH

o 2. donifereg

7< 3. Fuiforem

X< 4. diferem

Question ID : 753229538




Q.4 argHvsd H Haffde amn 7 urd s areft 49 @i @ 82
Ans X 1.#dT

< 2. SifRfts
o 3. g
X 4. TS STBITHATES

Question ID : 753229545

Q.5 f=faf@ad @ &= mf agarg arT 8?
I. O URT
II. Te1 =Y ey

Ans X 1.1drllget
Koo agtiarg
X 3. dhad |
o 4. Faa

Question ID : 753229544

Q.6 Steep rock coast rising almost vertically above sea water is called
l. Sea cliff
Il. Barrier island

Ans & 1.0nlyl
< 2. Neither I nor Il

25 3.0nly I
< 4.Bothland Il

Question ID : 753229539

Q.7 Sieifas wRERA AR 1918 7 & Ty Se-foeivaas 9fY R gwer Ry sk gg @
AR F QI
Ans X 1.fs=

o 2. SR
X 3. siffegar

X 4w

Question ID : 753229535

Q.8 The discontinuity present in earth’s interior between lower mantle and outer core is called

Ans X 1. Mohorovicc discontinuity
" 2. Guttenberg discontinuity
25 3. Repetti discontinuity

#< 4. Lehmann discontinuity

Question ID : 753229537




Q.9
Ans

The rate of change of temperature of ascending or descending air is called

#< 1. Normal lapse rate
5 2. Zero lapse rate
«# 3. Adiabatic lapse rate

5 4. Positive lapse rate

Question ID : 753229543

Q.10 Who analysed the society into the idle proprietors and the working industrialists?

Ans

25 1. King Gillette

< 2. Vaso Pelagi¢

25 3. William Thompson
«# 4. Henri de Saint-Simon

Question ID : 753229529

Q.11 Which of the following statements is correct regarding the continental drift theory of

Ans

Wegner?

I. This theory begins from Pre-carboniferous period.

Il. The main aim of the theory was to explain major climatic changes in the geological
history of the earth.

#< 1.Bothland Il
25 2.0nlyl

«" 3.0nly I
< 4. Neither | nor Il

Question ID : 753229541

Q.12 Which Article of the United Nations aims at higher standards of living?

Ans

25 1. Article 43
25 2. Article 14
" 3. Article 55
< 4. Article 21

Question ID : 753229536

Q.13 The ‘fourteen Point program’ was proposed by ______.

Ans

" 1. Woodrow Wilson
< 2. Herbert Asquith
#< 3. Edward Grey

#< 4. David Lloyd

Question ID : 753229532




Q.14 U # Iwichfeseia Tsharal @ ______ gl STaT g1
Ans X 1.9mEed

X 2.8

o 3.d13%

X 4. wrég

Question ID : 753229542

Q.15 fFg faReRT #, dtehd= i Yeh AT Hiwd & wu & afofa forar mar &2
Ans o 1. Tiffeare

5 2. 3ERaE

X 3. uRTRes e o Rgia

< 4. ygieRvrET

Question ID : 753229530

Q.16 wRflarE & T d, FmfafEa § @ o @ sy= 9 82
I.QW,mmmmﬁmﬂmﬁmmmmﬁawaﬁﬁm
%#ﬁﬁm%ﬁaﬁmmwwﬁﬁmml

Ans X 1.%adll

o 2. Fad |
K3 agtiargi

X 4.1 qur =t

Question ID : 753229531

Q.17 ______ugell shifa & Sit GoTorard) smeaif ur amenfRa ot |
Ans o 1. %I ohifd

X 2. i wifar
< 3. gRa wifa
X 4. tha oifa

Question ID : 753229527

Q.18 TYH AY R (34 WA TSIt gT) gafavor o swrfars Y eama A = gs ot
Ans X 1.1946

< 2.1948
2< 3.1945
o 4.1947

Question ID : 753229533




Q.19 Which of the following is NOT a component of a fault in the crustal rocks?
Ans X 1.Foot wall

#5 2. Hanging wall
«" 3. Anticlinal axis
25 4. Fault dip

Question ID : 753229540

Q.20 < fay gg o Afaf@a d @ o9 a1 Tedu agdl @2
1. fie=1, wiw, wifdga €@, g.ga.q.
1. sToffY, seeft ofik smu=

Ans o 1.1 TuTIl G
X 2. %ad I
X 3. %ad |
Xoaagiag

Question ID : 753229534

Section : Discipline3

Q.1 The Human Development Index (HDI) is a composite of three basic components of human
development. Which of the following is NOT that component?
I. Standard of living
Il. Knowledge

Ans X 1.Bothlandll
25 2.0nly I

25 3.0nlyl
¥ 4. Neither | nor Il

Question ID : 753229556

Q.2 The largest producer of feature films in the world is
Ans X 1. Nigeria

< 2. Russia
" 3.India
& 4. Japan

Question ID : 753229563

Q.3 w7 Frfafea 9 @ fradh ggras 78 &2
Ans X 1.y

X 2.7

X 3.7

o 4.7

Question ID : 753229550




Q.4 wfofa agys nfoar & fre fFR 6t dad aad w<ht 82
Ans X 1. 4ug-eaE

X 2. feceh-qag

X 3. fReeht-apicteptar

o 4. TR I3

Question ID : 753229562

Q.5 Which of the following statements is correct regarding the latitudinal distribution of salinity
in the oceans?
I. The highest salinity is recorded in the equatorial regions.
Il. The salinity of the oceans of the northern hemisphere is higher than that of the southern
hemisphere.

Ans X 1.0nlyl
#< 2.Both land Il
«# 3. Neither I nor Il

< 4.0nly i

Question ID : 753229549

Q.6 The maximum horizontal distance that is reached by a tsunami is referred to as
Ans X 1.datum level

25 2. run-up
«" 3. inundation
2 4. flow depth

Question ID : 753229564

Q.7 ¥RAH, i Szt Gt uTeplaes Muersil & HeeH & ohe & 1g Harerd & gRaTd) w@arer
gl

Ans X 1. &g
X 2.geh
o 3.3
X 4. ST smaer

Question ID : 753229565

Q.8 InIndia, the season of North-East Monsoon comprises
I. Hot weather season
Il. Rainy season

Ans X 1.Bothlandll

< 2.0nly i
5 3. Neither I nor Il

o 4.0nly |

Question ID : 753229552




Q.9 fagy A Sif o1 T TST IUTEh 237 i AT 8?
Ans X 1.

X 2. W
X 3. s

o 45T

Question ID : 753229559

Q.10 Which of the following measuring scales is used to determine the intensity and severity of

earthquakes?
I. Mercalli scale
1. Saffir-Simpson scale

Ans X 1.Bothlandll

25 2. 0nly Il
< 3. Neither I nor Il

o 4.0nly |

Question ID : 753229566

Q.11 Which of the following pairs of ‘River — Outflow’ is correct?
I. Nile River — Mediterranean Sea
1l. Amazon River — Atlantic Ocean
lll. Indus — Bay of Bengal

Ans 1. landll
25 2.0nly I

< 3.0nly 1l
X 4.lland Il

Question ID : 753229548

Q.12 YRa & fA=faf@a d 9 forg s A, ama« e aifof s wa« & w0 & 3 Sier 82

1. gfamon
II. nfeam
1. dsITer

Ans X 1.%ad I
K 2. 1aurll
X 3. g
o 41Tl

Question ID : 753229560

Q.13 3R & sienfie saffdfa Afsa & ogaR, F=fafea A | e fRafa § sein @ sugw ==
=i = AT & Hal & e ghm?
1. af fonelt It o1 “iifaes Yaropies g 9 o1fdas 81
1. af fereft S a1 o gaehie T & sRER 1

Ans X 1.%ad I
Koo agtiagi
o 3.5 |
& 4L aar il @t

Question ID : 753229558




Q.14 Which of the following passes connects Uttarakhand to Tibet?
I. Muling La pass
1l. Mangsha Dhura pass
lll. Lipulekh pass

Ans X 1.landll
& 2.1, 1land ll

25 3.0nly 1Nl
2 4. land Il

Question ID : 753229553

Q.15 [k Y & dgf # FafafEa § 9 o9 91 wu= 98t 82
1. 100 &.#. ¥ e guf a1t &= & wHe! H Dl
II. 39 Sft # AacpT 3R ATSRT S 3T I T4 &l
111. 37k iV &1 7T STuReE & ufar sraafden Haemfie g &1

Ans o 1. 113RII
& 2. ek
< 3. %aa |
XA s

Question ID : 753229561

Q.16 2011 &Y STATUMT & AR, WRd 1 TaH 31k THAEEAT a1e1 I i A7 8?2
Ans X 1. HgRIE

o 2. SRR

X 3. STy U

&< 4w TR

Question ID : 753229554

Q.17 fA=faf@a & @ &9 wRa & wier eiik 53U« S 83 78 82
Ans X 1. f9@E

o 2. PR

X 3. g1

< 4. T3

Question ID : 753229557

Q.18 The Archaean rocks cover two-thirds of Peninsular India. Which of the following is a type of
Archaean rock?
I. The Bengal Gneiss
Il. The Nilgiri Gneiss

Ans X 1.0nlyl
< 2.0nly Il
25 3. Neither I nor Il
" 4.Bothlandll

Question ID : 753229551




Q.19 Griffith Taylor’s scale of discomfort was divided into six categories. The 55 degree
Fahrenheit — 60 degree Fahrenheit represents

Ans X 1.usually uncomfortable
< 2. ideal condition
< 3. often uncomfortable

" 4. very rarely uncomfortable

Question ID : 753229547

Q.20 Various types of population densities are calculated for specific purposes. Nutritional
density is expressed as

Ans X 1. Total urban population/ Total barren land
" 2. Total population/Total cultivated area
#5 3. Total rural population/ Total barren land

25 4. Agricultural population/ Total cultivated area

Question ID : 753229555

Section : Discipline4

Q.1 The unorganised sector in an economy is characterised by ____ .
Ans X 1. high productivity syndrome

«" 2. absence of social security
#5 3. total government control

< 4. high-payment

Question ID : 753229572

Q.2 The National Food Security Mission (NFSM) was launched in
scheme.

Ans X 1.2012

as a crop development

& 2.2007
2< 3.2000
X 4.2004

[ Question ID : 753229568

Q.3 ‘e Ifen Ul & ueRR — ISTiferen uTel 1 AT T i §1 g |8 8?
1. e aréf - uRdT e urdt
1. 359 uTef - e st urdf
1. Tra uréf - sif@e WRea qorge wids
IV. i urdt - wRea wdia i

Ans X 1L, 18RIV

X2 s
X3, eRIV
o 41,1, 3RIV

Question ID : 753229582




Q.4 Which of the following is a symbol of Telugu Desam Party?
Ans X 1. Truck

#< 2. Scooter
«" 3. Bicycle
< 4. Car

Question ID : 753229581

Q.5 Which of the following is NOT a money market instrument?
Ans X 1.Treasury bills

" 2.Bonds
2<% 3. Commercial paper
& 4. Certificate deposits

Question ID : 753229574

Q.6 In India, which of the following urban local bodies is created by a separate act of state
government for the administration of small towns?

Ans X 1. Municipality
25 2. Cantonment Boards
¥ 3. Town Area Committee

< 4. Township

Question ID : 753229586

Q.7 & o fReht @ra &Y gLt Q. & w0 A a3ft affgra e anfee sia fonelt famneh & &R 2 ok
uuiia st foammet & sia & g g aAfRaTdigard |

Ans X 1.120f=
X 2.70f=
X 3.180 =
o 4.90 A

Question ID : 753229576

Q.8 ThrivAufaahema____ wmura =g
Ans X 1. %e T & Gl 9T F RS e

o 2. TET AT Gt ol S I [Fford s
2< 3. T S9d ol P STEEAT T T[0T A
2< 4. A ITEA Sl el STEEAT I O A

Question ID : 753229570




Q.9 ¥R U™ & SguR, F=fef@a @ & a1 wue 3 R | Sg-wea d9ul & aR | 981 82
|. Y & 9T I8} ATHAUT A IS4 kY 81T HA i 2l &1
II. T & 9T ISyl @ Sriaies sienifa @ aam= i arfth 81

Ans o 1. 1Tl G
X 2. %adt |
X 3. %Al
Kaagtiargi

Question ID : 753229577

Q.10 F=fafEa § 9 fra wwa d f3-aea s aa7 T8 82
Ans X 1.fagRr

o 2. RfFem

X 3. e

X 4 WU

Question ID : 753229585

Q.11 Every five years, the appoints a finance commission.
Ans X 1. Vice-President of India

#< 2. Finance Minister of India
" 3. President of India
5 4. Prime Minister of India

[ Question ID : 753229579

Q.12 &g TR gR1 Mfdd Frfafla d @ @i ar smah wRa d dhg-3rea Geol & wefda g2
Ans X 1. QR TR

X 2. @ge manT

o 3. TXHIRAT ST

X 4. Q.. AR SANT

Question ID : 753229580

Q.13 Moral suasion is a
I. Qualitative
Il. Quantitative

Ans X 1.0nlyll
/< 2.Bothlandll
25 3. Neither I nor Il

o 4.0nly |

technique of credit control.

Question ID : 753229573




Q.14 Pre-disaster stage of disaster reduction and management is also known as PMP stage.
Which of the following combinations of steps is correct?

Ans X 1. Provoke, Monitoring, Precautions
< 2. Permission, Maintenance, Preserve
" 3. Preparedness, Mitigation, Prevention

#5 4. Preserve, Mitigation, Planning

Question ID : 753229567

Q.15 FfafEa # @ o4 a1 &sfta &a e w0 9 @i YRa & Je18?
Ans X 1. 3T SmeHT urél

X 2. gurSTard) urét
< 3. RO Sreprett aet
o 4. fag Tad e

Question ID : 753229583

Q.16 Foreign trade can make manifold contributions to growth. Which of the following
statements is correct regarding the role of foreign trade in economic development?
l. It increases domestic workers’ welfare.
Il. It helps with the complete reduction of poverty in all the developing countries.

Ans X 1.0nlyll
< 2.Bothlandll

o« 3.0nly|
< 4. Neither | nor Il

Question ID : 753229571

Q.17 The local self-government has been given the constitutional status for the tier of
government in India.

Ans X 1.first
X 2. fifth
«* 3. third
< 4.second

Question ID : 753229584

Q.18 fF=fafEa d @ i+ snfdfe e wi agt &1 d uRwia wwar &2
Ans X 1. STHEEHT &l SRR
o 2. STTSTYL T TR + 3TTTIeh ShedToT

#5 3. ST ol TR + AT I 3HThR

75 4. JTITYE T 3ThR

Question ID : 753229569




Q.19 Which measure of money supply is known as monetary base?
Ans X 1.M3

X 2.M2
o 3.M0

X 4.M4

Question ID : 753229575

Q.20 f=faf@a #@ @ &b I wRa & g gifafde A T8 82
1. ST ST
1. far=T et

Ans X 1.argtlargll
o 2. Fad |
X 3.1l =t
X 4. %Al

Question ID : 753229578

Section : Discipline5

Q.1 R Sy Ht 58 gt Fo wsal & i 85 & g & fAg araer ue Fwdt g
fAafafae 7 @ fra oo &1 st Su s A adi 82

Ans o 1. ST e
X 2. Ao
X 3. fAeiRe
< 4. 3w

Question ID : 753229593

Q.2 Which of the following statements is correct regarding democracy.in India?
I. The provisions of democracy in India found its place in government of India act 1909.
Il. India opted for parliamentary form of government.
lll. Village level government in India is based on the Gandhian principles.

Ans X 1.llandlll
& 2.1, 1land Il
25 3. land lll
& 4. 1and I

Question ID : 753229588




Q.3 The Constituent Assembly of India divided its work among different committees for its
smooth functioning. Which of the following committees are correctly matched with their
respective chairman?

I. Union Power Committee- Jawaharlal Nehru
Il. Steering Committee — Rajendra Prasad
1ll. Union Powers Committee — Sardar Vallabhbhai Patel

Ans X 1.1 1land Il

25 2. 1and Il
& 3. land
X 4. lland Il

Question ID : 753229594

Q.4 Which of the following article of the Indian constitution is correctly matched?
I. Article 56 — Term of office of President
Il. Article 60 — Qualification for election as a President
I1l. Article 67 — The Vice-President of India

Ans X 1.landll

25 2.0nly 1Nl
< 3. lland I

o 4.0nly |

Question ID : 753229595

Q.5 Which of the following officer of the government is a generalist official with Panchayati Raj
Institution?

Ans X 1.Extension officer
«" 2. Block Development officer

< 3. Mayor
#5 4. Financial officer

Question ID : 753229587

Q.6 WRA & AgFIHATE! & e & Ffaf@a & @ S 91wy 9g 8?2
. FETaTdl Y WRA & Isgas J Gt el # gHars a1 fdeR ghm
1. FgT=TaTe) a1 uTRsifAe Tgafa RufRa wa &1

Ans X 1.%ad I
& 2. Fae |
K3 agtiargi
o 4. | qrll gt

Question ID : 753229596

Q.7 Appointments of officers and servants of the Supreme Court is made by the
Ans X 1.President of India

25 2. Prime Minister of India
< 3. Attorney General of India
" 4. Chief Justice of India

Question ID : 753229592




Q.8 WRA & gufa & wu & Fafe= & g srgar ure @ & g <es oy forash g+t =nmfe?
Ans X 1.554ad

o 2.35T%
X 3,459
X 4. 40 T

Question ID : 753229589

Q.9 #rlard} ‘figey ok’ Aure & o 3= i et ot
Ans X 1.1962

X 2.1971
o 3.1996
X 4.1954

Question ID : 753229590

Q.10 3uret 3R atehiferar & Torhifaes dud & deof & Frafafaq & @ @9 a1 su= adt 82
I. AUt H 3rige=T dlehds 6l RATGAT & fog un, sTafe atefifaar # o 7 ves RaffRa, Steaie
TRPR TR &1 MfAT D1
1. YT kT TS T IGT STdfeh Sl ifaaT T TS 3AH @7l

Ans X 1.%ad I
& 2. 1 aar Il @t
o« 3. Fad |
XKoaagrarg

Question ID : 753229591

Section : Teaching Methodology

Q.1 Which of the following combination is correct?
Ans X 1.Socio cultural context — Sex

#< 2. Constant — Gender
«" 3. Hierarchical — Gender
25 4. Systemic — Sex

Question ID : 753229604

Q.2 To make the task of assessment easy and more accurate, the expected learning outcome
should not need to be

Ans X 1. specific

¥ 2. unmeasurable
25 3. achievable
< 4. realistic

Question ID : 753229599




Q.3 Which of the following factors need to be considered while selecting a strategy in social
sciences class?
I. Availability of resources
1. Ability of the students
11l. Content
IV. Objectives

Ans X 1.llandlll
< 2. 1land IV
X 3.1, land IV
& 4.1 1, 1lland IV

Question ID : 753229598

Q.4 ______are the categories of classrooms in terms of classroom management.
I. Adequate classroom environments
1. Orderly classroom environments
lll. Dysfunctional classroom environments

Ans o 1.1 llandlll
25 2. 1and I
25 3. land lll
X 4.land Il

Question ID : 753229600

Q.5 At upper primary/elementary school level, which of the following is NOT a general aim of
learning social sciences?

Ans X 1.To develop the democratic citizenship qualities among students
" 2. Not to develop the sense of social competence and.social commitment in students

#< 3. To develop moral values, emotional qualities and sense of belongingness among
students

< 4. To help students to participate in socio-economic institutions

Question ID : 753229597

Q.6 ‘Line’is one of the basics for learning art through exploration and understanding from the
immediate environment. Which of the following combination of ‘type of line — what it
indicates’ is NOT correct?

Ans X 1.Curved lines — Aesthetic appeal
25 2. Vertical lines — Greatness
«" 3. Horizontal lines - Sign of life

#< 4. Diagonal lines — Movement

Question ID : 753229601

Q.7 HTST - ¥RA § |1 yRaR o1 FAfaf@a d & o= a1 Sates 98t 78 82
Ans X 1.8 -get emda

X 2. B - fyssrcht-anfa

o 3. dq - 53t 3

X 4 afa - sfafgga

Question ID : 753229605




Q.8 F=fafaa d 9 &= a1 gfy of R =1 Rigia a8 82
Ans X 1. afhd SiaR a1 Rigia

o 2. 3G SR fenm Y R Tep TAM Bl &

< 3. siqddy o1 Rigia

X 4. gafgam

Question ID : 753229606

Q.9 According to Carl Jung, mental activities takes four dominant forms. Which of the following
are those forms?
I. Thinking
Il. Sensation
lll. Intution
IV. Feeling

Ans X 1.0nlylll
25 2.1, and IV
X 3. lland IV
& 4.1, 1, 11land IV

Question ID : 753229602

Q.10 is the term used over the years to denote the shift to stop the segregation of children
with disability for the purpose of education.
I. Mainstreaming
1. Integration

Ans X 1.0nlyl
" 2.Bothlandll

25 3.0nly I
5 4. Neither I nor Il

Question ID : 753229603




